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ECONOMICS - MINOR
Paper : MN-l

(Microeconomics - I)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks

Group - A
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l. Ansr'r,er an), ten questions : 2x l0

(a) De['ine microeconomics.

(b) Mention one of the reasons lbr the shill of a supply curve.

(c) Define externalily.

(d) What do you mean by marginal product of labour?

(e) Distinguish betrveen change in supply and change in quantity supplied.

(fl If total revenue rises lrom ( 150 to t 195 fbr selling an extra unit, what u,ill be the marginal
terrenue?

(S) State the law of Comparative Advantage.

(h) Drau, a unit elastic demand curve.

(i) \tlention two features of a mixed economy.

(j) \lention tw'o features of a perfectly competitive market.

(k) "Ercess demand for goods and services leads to a rise in the price" Comment u,ith reasons
uhethcr this staten-rent is positive or normative.

(1) \\'hat is short-run in the context of production?

(m) Gir e trvo examples of natural resources.

(n) \\-hat is market failure?

(o) \\ hat do you mean by equilibrium?

Group - B

2. Ansuer ony Jive questions :

(a) Define Production Possibility Frontier (PPF). Define Opportunity cost. What u,i1i be the shape of
PPF rvhen opportunity cost is constant? 2+2+l

(b) Define cross price elasticity of demand. What is the cross price elasticity of thc substitute goods
and complcmsnts? ll a rise in the price of a good X does not alfcct the quantity demanded ol
another good d lvhat rvi1l be the cross price elasticity of demand betu,een them? 2+2+l

(c) Define Giff'en good. What is the shape of the demand cun e for a Gilfen good? Whal is thc income
elasticity of the Giffen good? 2+2+1

(d) Statc thc Law o1' Supply. Mention three determinants ol supply. 2+3

(e) What do you mean by consumer's equilibrium? State the conditions of consumer's eguilibrium.
/-t't
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(0 What is a public good? Mention two features of a public good. Give an example of a public good.
2+2+l

(g) Define marginal revenue. What is the relationship among marginal revenue, price and price

elasticity of demand? What is the relationship between price and average revenue? 2+2+l

(h) How do the price system and the invisible hand solve the basic problems of an economy? 5

Group - C

3. Answer uny three questions :

(a) (i) Determine marginal utility of 1st, 2nd, 3rd, 4th,5th and 6th unit and draw the relevant

marginal utility curve.

Units 0 I 2 --) 4 5 6

Total utility 0 6 10 12 13 13 12

(iD State and explain the law of Diminishing Marginal utility. (3+3)+4

(b) Mention the factors rvhich influence the demand. Show with the help of a diagram, how equilibrium
price and quantity change due to the rise in income. 1+6

(c) Deline price elasticity of demand. What is the price elasticity at the midpoint of a straight line
demand cun e? Mention two determinants of price elasticity of demand. Dratv a perf-ectly elastic

and a perfectly inelastic demand curve. 2+2+2+(2+2)

(d) Deflne Indifference Curve (IC). Define Marginal Rate of Substitution (MRS). Determine the

shape of indifl'erence curve with the help of diagram, when MRS is (i) Falling (ii) Rising and

(iii) Constant? 2+2+(2+2+2)

(e) Write short notes on the follou'ing :

(i) Budget line

(ii) Cardinal approach to utility. 5+5
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